























# **TUNNEL-DIODE CIRCUIT**

 $egin{aligned} &i_C+i_R-i_L=0 \ \Rightarrow \ i_C=-h(x_1)+x_2 \ &v_C-E+Ri_L+v_L=0 \ \Rightarrow \ v_L=-x_1-Rx_2+u \ &\dot{x}_1 \ = \ rac{1}{C}\left[-h(x_1)+x_2
ight] \ &\dot{x}_2 \ = \ rac{1}{L}\left[-x_1-Rx_2+u
ight] \end{aligned}$ 









## LINEARIZATION: SECOND-ORDER SYSTEMS

Let  $p = (p_1, p_2)$  be an equilibrium point of the system

 $\dot{x}_1 = f_1(x_1, x_2), \qquad \dot{x}_2 = f_2(x_1, x_2)$ 

where  $f_1$  and  $f_2$  are continuously differentiable Expand  $f_1$  and  $f_2$  in Taylor series about  $(p_1, p_2)$ 

$\dot{x}_1$	=	$f_1(p_1, p_2) + a_{11}(x_1 - p_1) + a_{12}(x_2 - p_2) + \text{H.O.T.}$
$\dot{x}_2$	=	$f_2(p_1, p_2) + a_{21}(x_1 - p_1) + a_{22}(x_2 - p_2) + \text{H.O.T.}$

$$\begin{aligned} a_{11} &= \left. \frac{\partial f_1(x_1, x_2)}{\partial x_1} \right|_{x=p}, \qquad a_{12} &= \left. \frac{\partial f_1(x_1, x_2)}{\partial x_2} \right|_{x=p} \\ a_{21} &= \left. \frac{\partial f_2(x_1, x_2)}{\partial x_1} \right|_{x=p}, \qquad a_{22} &= \left. \frac{\partial f_2(x_1, x_2)}{\partial x_2} \right|_{x=p} \end{aligned}$$

- 1



**EXECUTE:** Substituting the second s

## **EXAMPLE 1: LINEARIZATION**

1. In an ecological system, sheep and rabbit are in the same food chain and are competing each other. The population dynamics of these two species are defined by the following non-linear state-space equations:

$$\dot{x}_1 = x_1(3 - x_1 - 2x_2)$$
$$\dot{x}_2 = x_2(2 - x_1 - x_2)$$

 $x_1(t)$ : The population of rabbits at any time t

 $x_2(t)$ : The population of sheep at any time t

- a) Find all equilibrium points and make some comment on these in terms of their population (10 p.)
- b) For each equilibrium point, find a linear model valid around the corresponding equilibrium point and determine their types (10 p.)
- c) Plot the phase portrait of the non-linear system using *pplane* program (5 p.)











#### EXAMPLE 3: LINEARIZATION TUNNEL-DIODE CIRCUIT

**Example 2.2** The state model of a tunnel-diode circuit is given by

$$\dot{x}_1 = rac{1}{C}[-h(x_1) + x_2], \qquad \dot{x}_2 = rac{1}{L}[-x_1 - Rx_2 + u]$$

Assume that the circuit parameters are<sup>7</sup> u = 1.2 V,  $R = 1.5 k\Omega = 1.5 \times 10^3 \Omega$ ,  $C = 2 pF = 2 \times 10^{-12} F$ , and  $L = 5 \mu H = 5 \times 10^{-6} H$ . Measuring time in nanoseconds and the currents  $x_2$  and  $h(x_1)$  in mA, the state model is given by

$$\dot{x}_1 = 0.5[-h(x_1) + x_2] \stackrel{\text{def}}{=} f_1(x)$$

$$\dot{x}_2 = 0.2(-x_1 - 1.5x_2 + 1.2) \stackrel{\text{def}}{=} f_2(x)$$

Suppose  $h(\cdot)$  is given by

$$h(x_1) = 17.76x_1 - 103.79x_1^2 + 229.62x_1^3 - 226.31x_1^4 + 83.72x_1^5$$







## **Transfer Function (TF)**

For the differential equation of the form  $a_n y^{(n)} + a_{n-1} y^{(n-1)} + \dots + a_1 y^{(1)} + a_0$   $= b_{n-1} u^{(n-1)} + \dots + b_1 u^{(1)} + b_0 u$ the transfer function H(s) is  $H(s) = \frac{Y(s)}{U(s)} = \frac{b_{n-1} s^{n-1} + \dots + b_1 s + b_0}{s^n + a_{n-1} s^{n-1} + \dots + a_1 s + a_0}$ Note that transfer function is obtained by assuming that all the initial conditions are zero Roots of the numerator of H(s) are the zeros of H(s)Roots of the denominator of H(s) are the poles of H(s)



## **TF MODELS OF PHYSICAL SYSTEMS**

#### Electrical Systems

( Capacitor	$v(t) = \frac{1}{C} \int_0^t i(\tau) d\tau$	$i(t) = C \frac{dv(t)}{dt}$	$v(t) = \frac{1}{C}q(t)$	$\frac{1}{Cs}$	Cs
-////- Resistor	v(t) = Ri(t)	$i(t) = \frac{1}{R}v(t)$	$v(t) = R \frac{dq(t)}{dt}$	R	$\frac{1}{R} = G$
 Inductor	$v(t) = L \frac{di(t)}{dt}$	$i(t) = \frac{1}{L} \int_0^t v(\tau) d\tau$	$v(t) = L \frac{d^2 q(t)}{dt^2}$	Ls	$\frac{1}{Ls}$

Note: The following set of symbols and units is used throughout this book: v(t) = V (volts), i(t) = A (amps), q(t) = Q (coulombs), C = F (farads),  $R = \Omega$  (ohms), G = U (mhos), L = H (henries).









Component	Force- velocity	Force- displacement	Impedance $Z_{M}(s) = F(s)/X(s)$
$\begin{array}{c} \text{Spring} \\ \hline \\ 0000 \\ \hline \\ K \end{array} \\ \begin{array}{c} x(t) \\ f(t) \\ K \end{array}$	$f(t) = K \int_0^t v(\tau)  d\tau$	f(t) = Kx(t)	Κ
Viscous damper x(t) $f_v$	$f(t) = f_v v(t)$	$f(t) = f_v \frac{dx(t)}{dt}$	$f_{\nu}s$
$\begin{array}{c} \text{Mass} \\ \hline \end{array} \\ x(t) \\ M \\ \hline \end{array} \\ f(t) \end{array}$	$f(t) = M \frac{dv(t)}{dt}$	$f(t) = M \frac{d^2 x(t)}{dt^2}$	Ms <sup>2</sup>





## A Simple System: Cruise Control Model

Applying the Newton's Law for translational motion yields:

$$u - bv = ma$$
$$u - b\dot{x} = m\ddot{x}$$
$$u - bv = m\dot{v}$$
$$\dot{v} + \frac{b}{m}v = \frac{u}{m}$$
$$V(s + b/m) = U/m$$
$$\frac{V(s)}{U(s)} = \frac{1/m}{s + b/m}$$





Component	Torque- angular velocity	Torque- angular displacement	Impedance $Z_{M}(s) = T(s)/\theta(s)$
$\begin{array}{c c} \text{Spring} & T(t) & \theta(t) \\ \hline \\ \hline \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ $	$T(t) = K \int_0^t \omega(\tau)  d\tau$	$T(t) = K\theta(t)$	K
Viscous $T(t) \theta(t)$ damper $D$	$T(t) = D\omega(t)$	$T(t) = D \frac{d\theta(t)}{dt}$	Ds
Inertia $T(t) \theta(t)$	$T(t) = J \frac{d\omega(t)}{dt}$	$T(t) = J \frac{d^2 \theta(t)}{dt^2}$	$Js^2$





# Example: DC motor (cont'd)

Simplified transfer function (neglecting the inductance):

$$\frac{\Theta_m(s)}{V_a(s)} = \frac{\frac{K_t}{R_a}}{J_m s^2 + \left(b + \frac{K_t K_e}{R_a}\right) s} \qquad \qquad K = \frac{K_t}{bR_a + K_t K_e},$$
$$\tau = \frac{R_a J_m}{bR_a + K_t K_e}.$$

Transfer function between the motor input and the output speed  $(\omega)$ :

$$\frac{\Omega(s)}{V_a(s)} = s \frac{\Theta_m(s)}{V_a(s)} = \frac{K}{\tau s + 1}.$$



State-Space Equations state  $x = \begin{pmatrix} x_1 \\ \vdots \\ x_n \end{pmatrix} \in \mathbb{R}^n$  input  $u = \begin{pmatrix} u_1 \\ \vdots \\ u_m \end{pmatrix} \in \mathbb{R}^m$ output  $y = \begin{pmatrix} y_1 \\ \vdots \\ y_p \end{pmatrix} \in \mathbb{R}^p$  y = Cx  $C - p \times n$  matrix  $\dot{x} = Ax + Bu$  y = CxExample: if we only care about (or can only measure)  $x_1$ , then  $y = x_1 = \begin{pmatrix} 1 & 0 & \dots & 0 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ \vdots \\ x_n \end{pmatrix}$ 











































# **Stability of Linear Time-Invariant Systems** • Consider the linear time-invariant system whose transfer function denominator polynomial (or characteristic equation) is given by $s^{n} + a_{1}s^{n-1} + a_{2}s^{n-2} + \ldots + a_{n-1}s + a_{n} = 0$ • Assume that the roots $\{p_{i}\}$ of the characteristic equation are real or complex, but are distinct; so that the transfer function can be given as: $T(s) = \frac{Y(s)}{R(s)} = \frac{b_{0}s^{m} + b_{1}s^{m-1} + b_{2}s^{m-2} + \ldots + b_{m-1}s + b_{m}}{s^{n} + a_{1}s^{n-1} + a_{2}s^{n-2} + \ldots + a_{n-1}s + a_{n}}$ $= \frac{K\prod_{i=1}^{m}(s-z_{i})}{\prod_{i=1}^{n}(s-p_{i})}, \quad m \le n$





**Exponential Series**, **Power Series** Using Taylor series approximation, we can see that exponential series  $e^{\lambda t}$  increases faster than power series of  $t^{k}$ .  $e^{\lambda t} = 1 + \lambda t + \frac{(\lambda t)^{2}}{2!} + \frac{(\lambda t)^{3}}{3!} + \frac{(\lambda t)^{4}}{4!} + ...$   $e^{\lambda t} >>> t^{n}$  for any value of nTherefore,  $e^{-at}$  decreases faster than the increase of  $t^{n}$ .  $\lim_{t \to \infty} \frac{1}{n!} t^{n} e^{-at} \equiv 0$  for any  $n \ge 1$ Also, since  $e^{\pm j\omega t} = \cos \omega t \pm j \sin \omega t$  then  $\lim_{t \to \infty} t^{n} e^{\pm j\omega t} \neq 0$ Repeated  $j\omega$ -axis poles will make the system unstable.





### **Routh-Hurwitz Criterion:** A Bit of History



Edward John Routh, 1831–1907



Adolf Hurwitz, 1859–1919























#### Example 4: Low-Order Polynomials

 $\begin{array}{ll} n=2 & p(s)=s^2+a_1s+a_2\\ s^2 & :1 & a_2\\ s^1 & :a_1 & 0\\ s^0: & b_1 & b_1=-\frac{1}{a_1}\det\left(\begin{matrix} 1 & a_2\\ a_1 & 0 \end{matrix}\right)=a_2\\ \hline p \text{ is stable iff } a_1,a_2>0 \text{ (necessary and sufficient).}\\ n=3 & p(s)=s^3+a_1s^2+a_2s+a_3\\ s^3 & :1 & a_2\\ s^2 & :a_1 & a_3\\ s^1: & b_1 & 0 & b_1=-\frac{1}{a_1}\det\left(\begin{matrix} 1 & a_2\\ a_1 & a_3 \end{matrix}\right)=\frac{a_1a_2-a_3}{a_1}\\ s^0: & c_1 & c_1=-\frac{1}{b_2}\det\left(\begin{matrix} a_1 & a_3\\ b_1 & 0 \end{matrix}\right)=a_3\\ \hline -p \text{ is stable iff } a_1,a_2,a_3>0 \text{ (necc. cond.) and } a_1a_2>a_3 \end{array}$ 





















Example 1: Special Case 1						
Special Case 1: D(s)=s <sup>5</sup> +2s <sup>4</sup> +2s <sup>3</sup> +4s <sup>2</sup> +11s+10						
s <sup>5</sup>	1	2	11	<u>2 sign changes :</u>		
s <sup>4</sup>	2	4	10	2 roots with		
s <sup>3</sup>	<b>0→8</b>	6	0	positive real part.		
s <sup>2</sup>	- <u>12</u>	10		s <sub>1</sub> = 0.8950 + 1.4561i		
s1	6			s <sub>2</sub> = 0.8950 - 1.4561i s <sub>3</sub> = -1.2407 + 1.0375i		
s <sup>0</sup>	10			s <sub>4</sub> = -1.2407-1.0375i s <sub>5</sub> = -1.3087		

















































